
	(a) THE TREATY OF VERSAILLES TERMS GERMANY HAD TO ACCEPT
	(b) THE ALLIED JUSTIFICATION FOR TREATY OF VERSAILLES TERMS FOR GERMANY
	(c) CONSEQUENCES FOR GERMANY AS A RESULT OF THE TREATY OF VERSAILLES


	1. Germany had to accept full blame for starting the war – war guilt.


	d. France had been heavily damaged by the war.  This gave them more money on top of the reparations.



	H. Lots of Germans would be living in Poland who might not want to, and Germany would be divided.



	2. Germany had to massively cut down her armed forces.  She could only keep 100,000 soldiers, only 6 battleships, and have no air force.
	c. This made Germany too weak to fight again.  This made France feel more secure. 


	E. Germany wasn’t the only country fighting, so why should they take all the blame? 



	3. Germany had to pay £6,000 million in reparations to pay for damage caused during the war.


	h. Germany and Austria had been allies.  If they were stopped from joining together it might stop a war in the future. 


	G. The Germans didn’t think they should be blamed for the war, so why should they pay for the damage?  Also, they couldn’t afford £6,600 million!

	4. Germany and Austria were never allowed to combine as one country.


	e. The Rhineland was on the border with France.  France felt safer if there were no German troops there.
	D. Without the Saar, Germany might not have enough coal for heat and generating electricity. 



	5. Even though the Rhineland stayed as part of Germany, no troops were allowed to be kept there.


	g. This made Poland stronger, by giving it access to the sea to trade.  It also meant that if there was another war, Germany was surrounded by strong countries.


	C. Alsace-Lorraine had been part of Germany for 40 years and lots of Germans lived there who didn’t want to join France.



	6. Alsace-Lorraine was given back to France; around 40 years after Germany took it.


	a. Someone had to pay for the damage from the war.  Since Germany started the way, they were made to pay for it.


	F. The Rhineland was part of Germany!  If they couldn’t put troops on their own land, how could Germany defend itself if France attacked?

	7. The Saarland was to be run by the League of Nations for 15 years.  All the coal mined there would be given to France.


	f. If Germany didn’t take the blame for starting the war, she couldn’t be punished.


	A. Both countries shared similar customs and the same language.  They might need each other’s support if there was another war.

	8. East Prussia (part of Germany) was cut off from the rest of Germany by the Polish Corridor.



	b. Alsace-Lorraine had originally been French until they were taken by Germany in 1871.  Giving them back kept France happy.


	B. None of the winners had to shrink their armies, so why should Germany lose hers?  Now Germany couldn’t defend itself if somebody attacked her.
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This grid has been muddled up. Rearrange the information in order to match the


Versailles Term with (b) the justification and (c) consequences for Germany








